E=1Ek

SAE ;A=%7%I / SAE-flange Series
DSFS k124550 SAE A=1%1%4A1% / DSFS Double-end Welded SAE Flange Connector Kit

wrRy ) EAFRREEAE R SRR

. . Connecting head sizes shown in bold are F—h
Dimensions pre- ferential . HPJ%!E‘
**) EVE = FERR T BIPR, 3007 #HEIMF o1
Da 5= g @73.9 E
Because of the limit of the inner [
diameter of the flanges, the real
dimension of Da for 3007 connecting
head is @73.9. \
LFHE | R IEED BARS R O BUHFE | WBIRHIE &
Nominal Size | Max. Pressure Type Code Dimensions 0O-Ring Belts |Weight
mm [ in. bar Al BJTE]FJa] H]L M kg

3000 psi 1SO 6162-1/ SAE J518C-61

13 | 112 350 DSFS3001 | == =1 =30 ST Samp -~ - - 151 187x355 | M8x40 | 046
19 | 34 350 DSFS 3002 636 | 520 | ZZ'SJ 478 I- 81|28 G 250x355 | M10x45 | 0.78
Daxs | 25x3 /26.9%x36 o * i
704 [ 595 | 262 | 524 [ 444 ] 28 | 76
25 [ v 350 DSFS3003 |- - -4 =L 20 |22 =ZE LT 22 =L%
Daxs | ~30%4_[337%3.235% 329x3.85 | M10x50 | 0.98
o] 77 [ 70 202 ] s7] so8] a2 J_s2
32 |1 250 DSFS3004 | | 424x32 " 30.4x4/38.3x3/38 4x4x38.5x5/ S7.7x355 | MI0x50 | 145
42.4%5
939 [ 830 | 357 ] 699 603 32 | 90
38 [112 200 DSFS 3005 Daxs | 48:3%3.2 /48.3x45/42.4x3.2/48.3x2.6/ 472x355 | M12x50 | 205
48.3x3.6/48.3x4/48.3x5/48.3x6.3
101.8 |_ 97.0 | 42.9J 77.8 |_ 710 32 90
51 2 200 DSFS3006 | o | 60.3x2.9/60.3x3.9/60.3x56 /48.3x3.6/ 56.7x355 | M12x50 | 284
60.3x5/60.3x6.3
64 |21 160 psrsaoor~ | ___ ] 11491090 508 ] 839 [ 841 [ 38 ] 100 | 554 a0 | mi2xss | 361
Daxs |  76.1x2.9/761%3.6 _ 76.1x4/76.1x7.1
ol = 100 psFs 3008 | - - - | 13441310 619 ] 1064 1016]_ 42 | 100 | oo nos| misxes | 57
Daxs | 88.9x3.6 _ /76.1x3.6/76.1x7.1/88.9x3.2
89 312 35 psFs3000 | - _ ] 1827 [ 1400 ] 699 | 1207[ 1143] 44 ] 100 [ g0, a55 | miex70 | 735
Daxs | 880x38  /100x6/88.9x6/114.3x36
102| « 35 psFsaoto | - - - | 1622[ 1520 778 | 1302] 1270]_ 48 | 100 | 1107, 555] miex7s | sas
Daxs | ~114x3.6 ~ /388.9x36/110%6/114.3x5
P - psrsaon |- .- | 18441810 o21 ] 1524 1524]_ 60 J 100 [ s s ansl migxes | aee

Daxs 139.7x4 /127x4/133x%4/139.7x10
6000 psi 1SO 6162-2 / SAE J518C-62

13 | 12 420 DSFS6001 [~ ~ =T~~~ 27 - %" " I- T ot aE T ---1 187x355| M8x45 0.67

19 | 34 420 DSFS6002 [~ — - T-~--~- -~ ~--=-—-—--—------ - =—-1 250x355 | M10x55 125

25 1 420 DSFS6003 f---+--—=k - l-—=J_ < L_- " -=-1 329x355 | M12x65 2.08

32 114 420 DSFS6004 [~ ——f-—=-==——-———d—"=="%—=—/— - - - =-1 37.7x355 | M14x75 | 3.10

38 (112 350 DSFS 6005 1 38x6/48.3x8/48.3x8.8 /38x5/48.3x6.3/ 472x355 | M16x85 | 4.85
Daxs | 453x7.1

1328 [ 1140 445 ] 968 [ 794 | 74 ] 130

51 2 350 DSFS 6006 Daxs | “603x10 /48.3x8760.3x8/ 60388 56.7x3.55 | M20x 100 | 8.28
., 180.0 | 150.2] 588 | 123.8] 1089 90 | 160

b (212 30 DSFSE007 5,55 | “76.4x12,5 /76.1x8/76.1x10 /88.9x14.2 694 X355 | M24x130 | 165

7% | 350 psrseoos |- - 121200 1982] 716 [ 1624] 1925 [ 110 J 160 | 55 566 | w0150 | 28

Daxs 88.9x14.2 /88.9x11/114.3x11/114.3x17.5

352



